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But between the pillars - 2OTIAYT P2 PaN

OVERVIEW

7T 27 MR X7 M taught that an D7vAYn 2199w RAXWX is treated as a n°HnIo.
The X3 inferred from this that 2°7%¥7 32, since it 1S PAWAYN R°1, 1S not
considered a n*7»73. Our MHOIN explains what is the status of 2°71my: 1°2 and
why.

— % 090 MYD
Q7MY "2 is considered a 2''m -
— ©5390 MY MHN NN 170 TNYY 1Ny 13 PRY 29 Y 9N
Even though that between any two pillars, there are no sixteen nmN
separating them, and we know that a 7" requires a width of sixteen NMn\;
nevertheless the area between the pillars is a 9",

mdoIn explains the reason it is considered a 7"737:

—lanx Yuy DYV ANy 0NNV 1225 YIN N2 PYPIA D297 MY Y s
since the people who utilize the 9'""79 traverse through this area between
the pillars, and the entire area, which extends beyond the area of the 1°2

2o7IMYn, is sixteen N1AR wide, therefore even the narrow area is also a 1"777, since it
is incorporated and part of the larger *1"7.

SUMMARY
Areas of a 1"771 that are narrowed down to less than sixteen N1k wide, are
still considered a 2"13".

THINKING IT OVER

MIDOIN writes AR T A0 2TV P25 Y. Does that include the width of the
DY 72, or does NHOIN mean that there is an area outside the 71y P2
that is wide 7R T0?*

" See “Thinking it over’.

% See a0 11"7 K, NvON footnote # 17, (0"wi 11793) X°n 31 "7 2,1 PAPY NN,
3 See footnote # 1.

* See 7 MIX HR™MX NN ,WOR N and XD YO anw 0 TR YW
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